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QUESTION 1

A development team must provide layer 2 network isolation between virtual machines that are in the same VLAN. The
solutions architect must provide additional security between the virtual machines on the same subnet. How can this be
done without consuming more VLANs? 

A. Use Virtual Switch Tagging 

B. Use Private VLANs. 

C. Use Virtual Guest Tagging. 

D. Use External Switch Tagging. 

Correct Answer: B 

Private VLANs are used to solve VLAN ID limitations by adding a further segmentation of the logical broadcast domain
into multiple smaller broadcast subdomains. Private VLANs are Promiscuous, Secondary VLANs can be either Isolated
or Community? 

 

QUESTION 2

In the vCenter HA configuration below, drag the two correct components to the blank boxes in this diagram. The same
component may be used more twice (Choose two.) 

Select and Place: 
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Correct Answer: 
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QUESTION 3

The customer has two sites that must operate independently of each other in the event of a WAN failure. During normal
operations, administrators from each site must be able to manage the other site through the vSphere Web Client. 

Which vCenter Server Appliance (VCSA) and Platform Services Controller (PSC) diagram shows the VMware-
recommended design that satisfies these requirements? 
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A. Exhibit A 

B. Exhibit B 

C. Exhibit C 

D. Exhibit D 

Correct Answer: D 

https://www.opvizor.com/understanding-the-impacts-of-mixed-version-vcenter-server-deployments/ 

 

QUESTION 4
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You have been tasked with creating a vSphere 6.5 design for an organization. The organization has a mission critical
application that must be able to obtain its required CPU and memory resources even if contention occurs. You must 

determine which vSphere service(s) will allow for resources to be reserved. 

Associate the vSphere Service on the left with the corresponding Reservation Type on the right by dragging the red
button (S1-S6) over the text of the Reservation Type. 

NOTE: A vSphere Service may allow for more than one Reservation Type or none at all. 

Select and Place: 

Correct Answer: 
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QUESTION 5

A company is deploying a modem video news-streaming application. 

1. 

The application is capable of scaling (expanding and collapsing) its streaming nodes (in the form of VMs) on demand. 

2. 

To host the application, the company decided to implement a new VMware cluster with vSphere 6.5. Place the benefits
and drawbacks of thin and thick provisioning in the correct locations. 

Select and Place: 

Correct Answer: 
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